
The answers to the Vincent problem are correct in the Workbook Instructor Guide.  The 

answers do not include the EIP. 

VINCENT 1 

 

 

 

VINCENT 1                   

    
Taxable 
Grant 

AOC 
expenses AGI 

Taxable 
Income Tax EIC 

Total 
AOC Refund 

All expenses make 
grant tax-free   400 0 32400 13600 1363 1555 0 1693 

All expenses to AOC   4000 3600 36000 17200 1783 980 2400 2940 

Bogart Calculator 
optimizer   2399 1999 34399 15599 1585 1244 1999 3044 



 

 

 

 

VINCENT 2                   

    
Taxable 
Grant 

AOC 
expenses AGI 

Taxable 
Income Tax EIC 

Total 
AOC Refund 

All expenses make 
grant tax-free   400 0 32000 13200 1323 1619 0 1797 

All expenses to AOC   1100 700 32000 13200 1323 1619 700 2496 

Bogart Calculator 
optimizer   1100 700 32000 13200 1323 1619 700 2496 
 

  



 

 

 

 

VINCENT 3                   

    
Taxable 
Grant 

AOC 
expenses AGI 

Taxable 
Income Tax EIC 

Total 
AOC Refund 

All expenses make 
grant tax-free Van 0 0 32000 13200 1323 1619 0 1797 

All expenses make 
grant tax-free Larry 400 0 9400 0 0 0 0 0 

All expenses to AOC Van 0 3600 32000 13200 1323 1619 2283 3579 

All expenses to AOC Larry 4000 0 13000 450 46 0 0 -46 

Bogart Calculator 
optimizer Van 0 3594 32000 31200 1323 1619 2283 3579 

Bogart Calculator 
optimizer Larry 3994 0 12994 444 44 0 0 -44 
 


